EQLI

CHOOSE ONE STUDENT TO STAND ON A CHAIR SO THEY CAN BE SEEN OVER THE
HEADS OF THE OTHER STUDENTS.- EACH STUDENT IS ASSIGNED A CHARACTER FEOM
THE FOLLOWING COUPLES: KNIGHT AND QUEEN, PRINCE AND PRINCESS, AND HOESE

AND EIDER- THE STUDENT ON THE CHAIR CALLS oUuT ONE OF THE THEREE COUPLES
AND THE STUDENTS MUST THEN FORM THEIR FAIRS, ACCORDING TO THEIR ASSIGNED
CHARACTER-

EACH COUPLE HAS ITS OWN FORMATION:=

KNIGHT AND QUEEN - THE KNIGHT 1S DOWN ON ONE KNEE AND THE QUEEN SITS
ON THE KNIGHT’S KNEE
PEINCE AND PRINCESS - THE PRINCE HAS THE PEINCESS IN THEIR ARMS
e HOERSE AND EIDEE - THE HORSE STANDS UP AND THE EIDER EIDES PIG&Y-BACK
ON THE HOERSE
THE LAST PAIR TO GET INTO THE CORRECT FORMATION 1S EITHER OUT OR THEY 6O TO
THE SIDE OF THE GROUP AND 'TAKE FIVE’. AFTER TWO OR THREE PAIRS HAVE BEEN
ELIMINATED, RANDOMLY CALL ANOTHER COUPLE, TRYING TO GET THE STUDENTS
INTO PAIRS WITH DIFFERENT PEOPLE-
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